A B C E F G H | J
T RRXR NIIN
A /;!I/ A A7
2
— PROFILE : (11)
7 5+6 M10x1,5
L
3 M10x1,5
-—1 M8x1,25
28 30 48 78 ;
— | M8x1,25 & =16
¢ N M10x1,5 m ¢ ¥ + 4 + 4
7N H
<+
100 | 100 B 100 B 100 | (100)
(2,3 (1) A
N 45,3
— MATERIAL
5 1 — Inner beam : Steel
2 — Inner beam : Steel
3 — Intermediate Beam : Steel i i i
. i Dimensions in mm
1 ‘5" - IBnter‘med;];cg ¢Bse<;r5’n¢4 ztee: * Loads indicated for a pair of slides mounted on the major axis with evenly distributed load.
. _ Bzﬁ”(’:‘jges e L 500 [550 [600 [650[700[750 [800 850 [900[950 [1000]1100]1 200]1300[1 400[1500
7 — End stop Plastic A 1001150(200 (2501300350 — | = | = | = | = | = | = | = | = | -
6 — SURFACE FINISH . Zinc blatin B - | = =1-=-1-=-1 = /150]|175|200(225]|250|300 (350 (400|450 500
’ P J D 760|840 900 (980 |1060[1140(1200(1280|1360/1440(1500(1660|1800/|1960{21002260
_| — WHIGHT : 17,5 Kg/m Load* (Kg) |[220[210[200[195[190[180[170]165]160[155/150[135]120[105] 90 | 80
— OPTIONS : Deflection (mm)|| 5 6 6 7 7 8 8 9 9 (1011011 [12 (13|14 ] 15
Different slide lengths, extension, surface finish, E1904 BP 995 — 68 Bd Jules DURAND
7 @ and holes centres to customer’s requirement. CHA%%EEIEQE\I 76061 LE HAVRE CEDEX — FRANCE
FT 033 — STEEL Tel : +33 (0)2.35.24.62.80 — Fax : +33 (0)2.35.25.02.00
DO NOT DISMOUNT THE SLIDE ! info@chambrelan.com — www.chambrelan.com
& 05-01-2232 6—@ | FILIALE : info@profilscope.de — www.profilscope.de

In a constant effort of improvement, the compagny reserves the right
to modify its products without notice. No contratual information.

www teferail ris telerail@y¥ ru Ten. 8 (499) 708-39-77  * | | | J






